Comparison sidO1 and sid02

Sample = 500 GeV ZZ
Number of events = 9000 events
Barrel region (costheta < 0.8)

Acceptance = 2370 events (Same for both sidO1 and sid02)

Detector RPC Mean90 (GeV) RMS90 (GeV) Full RMS (GeV)
Sid01 -1.90 3.76 5.68
Sid02 -2.21 3.78 5.64

eventMassResidualsToTruthinBarrel2 eventMassResidualsToTruthinBarrel2

Entries : 2370

Entries : 2370
Mean :-2.4242

i 10
ssssssssssss (GaY)

0 10
ssssssssssss (GeV)

Sid01 Sid02



number of events

1,800
1,700
1,600
1,500
1,400
1,300
1,200
1,100
1,000
900
800
700
500
500
400
300
200
100

0

Sid01 : -5.58 + 12.75 (GeV)

-60

eventMassResidualsToTruth

-50

Total RMS

comparison

Entries: 9000
Mean :-5.5762
Rms: 12.745

-40 -30
Wass residual (GeV)

20

eventMassResidualsToTruth

number of events Entries: 9000

1,800
1,800
1,700
1,600
1,500
1,400
1,300
1,200+
1,100
1,000+
900
800+
700
600
500
400
300
200+

1007

Mean :-4.8519
Fms: 95294

0

t
-80 =70 -60 -50 -40 -30 -20 -10 0
Mass residual (GeV)

Sid02 : -4.85 + 9.52 (GeV)




